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1 9:00~9: 45 12085 VS 1 30BS 9:00~9: 35 2OE Vs 30BE 14085 Vs 1508E
HeBs 16 Hass 10 16
S SEE Y= 4% 4FE
2 9:55~10: 40 140BE VS 150KS 9:45~10:20 BOME VS TOMB SOEE VS ODHE
HeBs 17 Hass 10 11
S 6FE Y= 3FE 3FE
3 10:50~11:35 11088 VS 12083 10:30~11:05 10DBE VS 110HSE 12085 Vs 130BE
HEBs 15 Hass 14 15
S 6L SE AFE
4 11 :45~12: 30 130BE VS 1408E 11:15~11:50 10DBE Vs 110BE
HEBs 16 HeBs 12
S SEE SE 3FE
5 12:40~13:25 16DBE VS 1 7OBE 12:00~12:35 14085 Vs 1501BE
HEBs 18 HeBs 16
SE 6FE SE
6 13:85~14:20 15DBE VS 160HE 12:45~13: 20
Hess 17 Hess
S 8% FHE
7 14:30~15:15 20BE VS S0BE 13:30~14:05
Hess 4 Hess
SE Y
8 15:25~16:10 14 :15~14:50
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Y
9 15:00~15:35
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Y
10 15:45~16: 20
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— RV-40BF— 1 — 3-160@F—LA 3-150@F— LA




